WUZ Z51- TR IR T ENZE

A:ES
E B: RS :
= - — 6| 7 .
O c O+ 4-H ¢
e e D 2.V
J |
- a7 T 7 R R
Q[ @+ V| CEe b
] O O 7L )80
P S
@ _FIED T
=5 @R s
- 0
B o5 e A5 ARAE AF%EJ’S’A BFAE B%g@ C D E F G 4-H I J K
(mm) = (mm) = (mm) (mm) (mm) (mm) (mm) (MxP) (mm) (mm) (mm)
WUZ-10DW | 1Z#EH 10.5 0~-1 16.5 0~2 4 19 5 3 57 M2.5x0.45 6 16 28.75
WIJZ-10DN BFER 6 0~-1 10 0~2 4 19 5 3 57 M2.5x0.45 6 16 28.75
- 2 L M N (0] P Q R S T 2-U 2-V 4-W B O
= (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm) (MxP) (MxP) (MxP) (MxP) (MxP)
WIJZ-10DW 37.8 23 16 115 27 16.5 12 18 23 M3x0.5 [ M3x0.5 | M3x0.5 [ M3x0.5 | M3x0.5
WIJZ-10DN 37.8 23 16 115 27 16.5 12 18 23 M3x0.5 [ M3x0.5 | M3x0.5 [ M3x0.5 | M3x0.5




